Welcome to class!

Join PearDeck

Take out last night’'s homework (worksheet and textbook
problems)
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Kindness Expectation




Last Night's Homework



How did you feel about last night’s homework?

@O
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Students choose an option
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4. f(x) = x|
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The cost C, in dollars, for pencils is a function of the number n of pencils & See Problem1
purchased. The length L of a pencil, in inches, is a function of the time 1, in

seconds, ithas been sharpened. Graph the function shown by each table below.

I'ell whether the function is linear or nonlinear.

6. . 7.

Number of Pencils,n | 6 | 12 | 18 ' 24 | 30 Time (s), t 0 3 6| 91215
Cost, C $1 |52 335455 Length(in.), L |75 | 75| 75|75 |74 73

Graph the function shown by each table. Tell whether the function is

linear or nonlinear.

8. 9, 10. 1.
0 5 0|4 0 0 0|0
] 5 = 1 1 1 3
2 5 2 0 2 5 2 6
3 5 3 5 3 8 3 9
12. For the diagram below, the able gives the total number of & Sce Problem2

small trlangles v in figure number x. Whart pattern can you
use to complete the table? Represent the relationship using

waords, an equation, and a graph

3 (1, 3)
A 12 {2,12)
A A 27 (3, 27}

Figure 1

A
A ApA A&ﬁ&é

Figure 2

Vi & W N -

Figure 3




Announcements

e Unit4 Test Date — 10/25/2018 (next Thursday)

e Please double check your grades in PowerSchool and let
me know if you think there are any errors! We are nearing
the end of Quarter 1.



Let's review what you should know so far...

e Using Graphs to Relate Two Quantities
o Independent vs. Dependent Variable
o Domain vs. Range
e Patterns and Linear Functions
o How do you know if it's a function?
o How do you know if it's a linear function?
e Patterns and Nonlinear Functions
o How do you know if it's a function?
o How do you know if it's a nonlinear function?



Graphing a Function Rule
10/18/2018



Right now, the easiest way to graph any function is
to make and x and y chart, then graph the points!

X Function Rule y

| know that there are other ways, and | am excited to
teach them to you later!



QJ‘ L 1CLRY Graphing a Function Rule

What is the graph of the function rule y = —2x + 1?



Q‘I Problem 1 Graphing a Function Rule

What is the graph of the function rule y = —2x + 1?

Step 1 Make a table of values,

y=-2-1)+1= (-1, 3)

y==20)41=1 @ 1)

y=-2+1=-1  @,-1)
y==200+1=-3 (@ -3)




‘ I ELTR Y Graphing a Function Rule

What is the graph of the function rule y = —2x + 1?

Step 1 Make a table of values, Graph the ordered pairs.

y=-2-1)+1=3 (1,3

y==20)41=1 @1
y==-20+1=-1 (1,-1)

y=-=-200+1=-3 (2, -3) Connect the points with a line
to represent all solutions.




And that's all there really is to it... for now :)

Make an x and y chart, get some points, and make the graph!



Try graphing the function rule: y = 72 x -1

X Function Rule y




*Q\"' T A BT Graphing a Real-World Function Rule

Trucking The function rule W = 146¢ + 30,000 represents the total weight W, in

pounds, of a concrete mixer truck that carries ¢ cubic feet of concrete. If the capacity of
the truck is about 200 ft*, what is a reasonable graph of the function rule?




T B Graphing o Real-World Function Rule

Trucking The function rule W = 146¢ + 30,000 represents the total weight W, in
pounds, of a concrete mixer truck that carries ¢ cubic feet of concrete. If the capacity of
the truck is about 200 ft*, what is a reasonable graph of the function rule?

Step 1
Make a table to find
ordered pairs (¢, W),
0 W= 146(0) + 30,000 = 30,000 (0, 30,000)
The truck can hold 0 to 200 ft3 50 W = 146(50) + 30,000 = 37,300 (50, 37,300)
of concrete. So only c-values W = 146(100) + 30,000 = 44,600 = (100, 44,600)
from 0 to 200 are reasonable,
W = 146(150) + 30,000 = 51,900 (150, 51,900}
W = 146(200) + 30,000 = 59,200 @ (200, 59,200)




0 W= 146{(0) + 30,000 = 30,000 (0, 30,000)
50 W= 146(50) + 30,000 = 37,300 (50, 37,300)
100 W = 146(100) + 30,000 = 44,600 @ (100, 44,600}
150 W = 146(150) + 30,000 = 51,900 (150, 51,900}
200 W = 146(200) + 30,000 = 59,200 (200, 59,200)

Step 2
Graph the ordered pairs from the table.

W reaches almost 60,000 Ib.

So W-values from 0 to 60,000 Truck Weight
in grid increments of 10,000 > '
ake : - 60,000

I SR = : All c-values from 0 to 200
= 40,000 make sense, so connect
= the points. Stop at 200 ft,
= 20,000 the capacity of the truck.
)
= 0

0 50 100 150 200

The c-values go from 0 to 200. Concrete (ft3), ¢

200 is evenly divisible by 25,
so use grid increments of 25.




BTW... we can graph nonlinear functions the same
way we graph linear functions! Just make another
x and y chart!



AL EUE. Y Graphing Nonlinear Function Rules

What is the graph of each function rule?

m.‘vz x': — 4




AL EUE. Y Graphing Nonlinear Function Rules

What is the graph of each function rule?

By= x| -4

Step 1
Make a table of values.

y=|-4-4=0 (~4, 0)
y=|=2|=4==2 | (-2, -2)
y=0l-4=-4 | (0, —4)
y=pRl-4=-2 | 2 -2
y=a-4=0 (4, 0)




AL EUE. Y Graphing Nonlinear Function Rules

What is the graph of each function rule?

By= x| -4

Step 1 Step 2
Make a table of values. Graph the ordered pairs.

Connect the points,







Step 1
Make a table of values.

y=(-22+1=5  (=2,5)
y=(-1R+1=2 (-1,2)
y=0+1=1 (0, 1)
y=R+1=2 (1.2
y=2+1=5 (2,5




Step 1 Step 2
Make a table of values. Graph the ordered pairs.

Connect the points,

y=(-22+1=5  (=2,5)
y=(=1P+1=2 (-1,2
y=0+1=1 (0, 1)
y=12+1=2 (1,2)
y=2241=5 (2, 5)




Continuous vs. Discrete Graphs

Continuous - a graph that is
unbroken

Discrete - a graph
composed of distinct,
Isolated points




In what real life situations
would we need a
continuous graph? Talk at
your table, then write a
response here:

Students, write your response! atoah - e


http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjQsImVtYmVkZGFibGVVcmwiOiIiLCJhbnN3ZXJzIjpbXX0=pearId=magic-pear-shape-identifier
http://dontchangethislink.peardeckmagic.zone?pearId=magic-pear-metadata-identifier

In what real life situations
would we need a discrete
graph? Talk at your table,
then write a response
here:

; }‘.‘.«4‘. 3 # " _,' ‘-."‘_;"- ~' ,‘! = ./ . “‘,". : ~:<:_ » :,
Students, write your response! Peal De g Slide
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In what real life situations would we need a
continuous vs. discrete graph”? Examples

Continuous: Discrete:
e Money made per hour e Cost of beans per can
babysitting e Money made per car

e Plant growth per day wash



T EER Y Identifying Continuous and Discrete Graphs

Farmer's Market A local cheese maker is making cheddar cheese to sell
at a farmer's market, The amount of milk used to make the cheese and
the price at which he sells the cheese are shown. Write a function for
each situation. Graph each function, Is the graph continuous or discrete?

smr
1 gal of milk
makes 16 oz of
( cheddar cheese. ’
~

The weight w of cheese, in ounces, depends The amount a of money made from selling
on the number of gallons m of milk used. cheese depends on the number n of wheels sold.
So w = 16m. Make a table of values. So a = 9n. Make a table of values.



BT Identifying Continuous and Discrete Graphs

Farmer's Market A local cheese maker is making cheddar cheese to sell
at a farmer’s market. The amount of milk used to make the cheese and
the price at which he sells the cheese are shown. Write a function for
each situation, Graph each function. Is the graph continuous or discrete?

1 gal of milk
makes 16 oz of

( cheddar cheese ’

ol

The weight w of cheese, in ounces, depends The amount a of money made from selling
on the number of gallons m of milk used. cheese depends on the number n of wheels sold.
So w = 16m. Make a table of values. So a = 9n. Make a table of values.
Weight of Cheese Money Earned
~
\ . i1 —
s 64 An,;(amount of milk 2 36 ° He can only sell
A [s - . > P I r
JE7 MAkKEs e E“' 0 ™ z < whole wheels of
- : 2 the
S conn}egt e pomts. e g | cheese. The graph
fg 32 grapn is continuous. - 18 2 is discrete.
@ s e
= :
Je——
0012345 < 012345

Milk (gal), m Wheels Sold, n



When you walk out of the door today, you should be
able to...

e Graph a linear function
e Graph a nonlinear function
e Determine if the graph should be continuous or discrete



Drag your dot to how you are feeling:

Keep going, | understand I'm a little confused Stop, | need help!

o
(5 ’K Students, drag the icon! Eeskbeckiintocaciiveishds
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Exit Ticket

Error Analysis Your friend graphs
y = x + 3 at the right. Describe
and correct your friend’s error.




Error Analysis Your friend graphs
y = x + 3 at the right. Describe
and correct your friend’s error.

Students, write your response!
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Tonight's Homework

Page 257 #18-20, 22-23, 29-33



